
ITEM NO.OFM1084



LB

G

Casters

F 5 H

Left armrest

250LBS

1 Personen

Right armrestMechanism

Base arm Foot tube

M6*12

10

M6*18

12

M6*18M6*12

5



A

C

H

B

Overview

STEP-1

If the screw is not convenient to install, 

please remove the cover plate first 

and put it back after installation.

!



STEP-3

If you lift the lid off the assembly, 

please put the lid back on

!

STEP-2

3

M6*12

10



M6*18

4

STEP-5STEP-4

The installation tray is mounted

down the arrow

A

3



STEP-6 STEP-7

B

3

4x4

M6*18

8

A

H

C



STEP 8


